?Etll!II(E:IS( EITTINGS mmEI' A[@
b/ WORK

PNEUMAT

* Body: OT58 brass
* Maximum pressure 261 psi, 1800 kPa 18 bar

STRAIGHT, MALE CONICAL (C1)

Code Ref. @ F ch ch1 P L D

2301017 Ci 5/3 1/8 12 9 80 260 20
2301001 Ci 6/4  1/8 12 12 80 265 30
2301002 CI 6/4 /4 14 12 110 300 30
2301003 Ci 8/6 1/8 12 14 80 265 50
2301004 Ci 8/6 /4 14 14 110 300 50

s 2301005 Ci 8/6  3/8 7 14 115 310 50

= 2301020 Ci 10/8 1/8 14 16 80 290 50

o 2301006 Ci 10/8  1/4 14 16 110 320 468
G 2301007 Ci 10/8  3/8 17 16 115 330 638

. 2301008 Ci 10/8  1/2 22 16 140 360 638
p[ 2301009 Ci 12/10  3/8 17 19 115 350 85
2301010 C1 12/10  1/2 22 19 140 380 85

._J 2301015 C1 15/12.5 1/2 2 2 140 395 110

STRAIGHT, MALE PARALLEL WITH O-RING (C1/Z)

Code Ref. (7] F Ch Ch1 P L D Orring

2351001 C1/2  4/2 M5 9 9 40 230 15 4x1.5

2351002 C1/Z  6/4 M5 9 9 40 230 23 415

2351003 Cl/Z  6/4 1/8 13 12 60 250 30 2031

2351004 C1/Z  6/4 1/4 16 12 80 270 30 2043

2351005 C1/2  8/6 1/8 14 14 60 250 50 2031 O

2351006 C1/Z  8/6 1/4 16 14 80 270 50 2043 )

2351007 C1/z  8/6  3/8 19 14 90 290 50 2056 E

2351008 C1/Z 10/8 1/4 16 16 80 290 6.8 2043 »

2351009 C1/Z2 10/8 3/8 19 16 90 310 638 2056 8

2351010 C1/Z 10/8 1/2 24 16 110 330 68 3068 z

2351011 C1/Z 12/10 3/8 19 19 90 330 85 2056 E

2351012 C1/Z 12/10 1/2 24 19 110 350 85 3068 ;
=
a

Code Ref. @ F Cch Ch1 P L D

2356001 C1/C 5/3 M5 9 9 4 23 2

2356002 C1/C 6/4 Mé 9 9 5 24 3

2356003 C1/C 6/4 MI2x1.5 17 12 8 27 3

2356004 C1/C 6/4 3/8 19 12 9 27 3

2356005 C1/C 8/6 MI2x15 17 14 8 27 5

Ch




QUICK FITTINGSI SERIES C

STRAIGHT, FEMALE (C2)

Ch

Code

2302001
2302002
2302012
2302003
2302004
2302005
2302006
2302007
2302008

Code

2303001
2303002
2303003
2303004

Code

2304001
2304002
2304003
2304004

Code

2305016
2305001
2305002
2305003
2305004
2305005
2305006
2305007
2305008
2305009
2305010
2305017

Ref.

Q2
2
Q2
Q2
2

C2
2
2

Ref.

a3

a3
c3

Ref.

C4
C4
C4
C4

Ref.

@5
@5
@5
C5
c5
C5
€3
@5
€5
@5
c5
C5

6/4
6/4
6/4
8/6
8/6
8/6
10/8
10/8
10/8

6/4

8/6
10/8
12/10

%
6/4
8/6

10/8

12/10

%
5/3
6/4
6/4
8/6
8/6
8/6

10/8

10/8

10/8

12/10

12/10

1/8
1/4
3/8
1/8
1/4
3/8
1/4
3/8
1/2

Ch
12

14
17

Ch
14
16
17
19

F

1/8
1/8
1/4
1/8
1/4
3/8
1/4
3/8
1/2
3/8
1/2

15/12.5 1/2

Ch
14
17
20
14
17

17
20
24

Ch
12
14
16
19

Ch
12
14
16
19

L

33.0
33.0
37.0
420

L

47.0
48.0
49.0
53.0

Ch

12
14
14
14
16
16
16
19
19
22

P
7.0

10.0
7.0
8.0

10.0
8.0

10.0

11.0

3.0
5.0
6.8
8.5

3.0
5.0
6.8
8.5

P
8.0

11.0

8.0
11.0
120
11.0
12.0
14.0
12.0
14.0
14.0

L

26.5
29.5
33.0
26.5
29.0
33.0
31.0
35.0
38.0

B

11.0

12.0
9.0
9.0

L

17.0
17.0
20.0
17.0
20.0
220
20.5
21.5
26.0
240
26.0
28.0

D
3.0

3.0
50
50
50
6.8
6.8
6.8

F

M10x1
M12x1
M14x1
M16x

L1

220
220
220
220
220
215
250
25.0
28.5
31.0
31.0
328

D
2.0
3.0
3.0
50
50
50
6.8
6.8
6.8
8.5
8.5

10.7




ATNMETAL
b/ WORK

PNEUMAT

ELBOW FEMALE (C5/F)

Code Ref. @ F Ch Ch1 L L1 D P
2352001 C5/F  6/4 1/8 9 12 210 220 30 70
2352002 C5/F 8/6 /4 12 14 240 235 50 70

Code Ref. @ F Ch Ch1 P L L1 D
2357001 C5/C  6/4 M12x1.5 10 12 9 22 25 3
2357002 C5/C 8/6 M12x1.5 10 14 9 22 25 5

Code Ref. @ Ch ch1 L D

2306001 Cé 6/4 9 12 22.0 3.0
2306002 C6 8/6 12 14 22.0 50
2306003 Cé6 10/8 12 16 25.0 6.8
2306004 C6 12/10 17 19 31.0 8.5
2306006 C6 15/12.5 18 22 328 107

QUICK FITTINGSI SERIES C

Code Ref. @ F Ch Ch1 P L L D

2307015 C7 5/3  1/8 9 9 80 170 220 20
2307001 C7 6/4 1/8 9 12 80 170 220 30
2307002 C7 6/4 /4 9 12 110 200 220 30
2307003 C7 8/6 1/8 12 14 80 170 220 50
2307004 C7 8/6 1/4 12 14 110 200 220 50
2307005 C7 8/6 3/8 12 14 120 220 230 50
2307006 C7 10/8 1/4 12 16 110 210 250 68
2307007 C7 10/8  3/8 12 16 120 220 250 68
2307008 C7 10/8 1/2 17 16 140 260 285 68
2307009 C7 12/10 3/8 17 19 120 240 310 85
2307010 C7 1210 1/2 17 19 140 260 310 85
2307016 C7 15/12.5 1/2 18 22 140 280 328 107




|
192
[N}
oz
(NN
)
7]
[©)
Z
E
[N
4
&
2
@]

TEE, LATERAL MALE (C8)

Ly

Ch

e |

TEE CONNECTOR (C9)

NUT (C10)

ch,

ch

°L

ch,

Code

2308012
2308001
2308002
2308003
2308004
2308005
2308006
2308007
2308008
2308009
2308010

Code

2309001
2309002
2309003
2309004
2309007

Code

2310001
2310009
2310002
2310003
2310004
2310005
2310006
2310011

Code

2311001
2311002
2311003

Ref.
C8

c8
c8
c8

c8
c8
c8
c8

Ref.
Cc9
Cc9
Cc9

C9

Ref.
C10
C10
C10
C10
C10
C10
C10
C10

Ref.
Cli
Ccli
Cli

5/3
6/4
6/4
8/6
8/6
8/6
10/8
10/8
10/8
12/10
12/10

)
6/4
8/6
10/8
12/10
15/12.5

)

4/2
5/3
6/4- M5
6/4

8/6
10/8
12/10
15/12.5

6/4
8/6
10/8

F Ch
1/8 9
1/8 9
1/4 9
1/8 12
1/4 12
3/8 12
1/4 12
3/8 12
1/2 17
3/8 17
1/2 17
Ch Chi
9 12
12 14
12 16
17 19
18 22
F
M7x0.5
M7x0.5
M8x0.5
M10x1
M12x1
M14x1
M16x1
M20x1
ch Chi
10 12
10 14
12 16

Ch1

12
14
14
14
16
16
16
19
19

L

22.0
22.0
25.0
31.0
32.8

Ch1

12
14
16
19
22

L

21.5
220
24.5

P
8.0

11.0

8.0
11.0
12.5
11.5
12.5
135
11.5
13.5

3.0
50
6.8
8.5
10.7

L
9.0
9.0
9.0

11.0

11.0

12.0

12.0

16.0

D

3.0
50
6.8

L

39.0
39.0
420
39.0
420
450
46.0
47.0
54.5
55.0
57.0

L

220
220
220
220
220
230
250
25.0
28.5
31.0
31.0

D
20

3.0
5.0
50
5.0
6.8
6.8
6.8
8.5






